Electrical potential V(x) in the rectifying diode...

Physical constants
kg T q

cv-k) (K) (o)

8.617-107° 300 1.602-107"°

Basic parameters Ny, E, o

I3

Va

(em™) (c-v) (€-v) (F-m™) (V)

1-10** 0.3 0.05 4.8.854-107"

Constants of the ODE kp+T 1
A:=—2 —— Ny-exp|—
g+l
B:= =
kB'T

Domain (Distance from cathode)
x:=0,1-10""..200-10"° m

Guess Values
1

_ The ODE to be solved

v [0

dz

Boundary conditions
V(iom)=0V

Constraints

V(200:10° m) =V, V

_ Resolution of the ODE
V:=odesolve (V' (z),200-10~")

Solver

0.6 200-107°
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z (m)

1-1077

1.2.1077
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